Lista 4: pochodna funkcji

. Wyznacz pochodna funkcji:

(a) f(z) =

(b) f(z) = gx — a4 3amE 415
(¢) flz) =23+ 2072+ g;

(d) f(z)=a? -3+ -2 "+ Lx

= (z - 6)"
z) = (z+1)*(z - 1);
=Vz(2® =z +1);

=z + Vz)- (1+a);
9= (3 3) (5 87

. Wyznacz pochodna funkcji:
(a) f(z) = (1+ 2z)%;

(b) fla) = (1—a)';

() f(z)=(T2? — 1 4 6)°;

(d) flz)= (%})2;

. Wyznacz pochodna funkcji:

(@) f(2) = =3

(b) f(2) = szteesss

(©) f(@) = 25z,

(d) f(z) =cosz—Lcosdx

(a) f(z) = (2"+3)(3" +2);

(b) f(z) = (2°+! +3)(3%+% +2);
(¢) f(z) =Mn(z*+z+1);

(d) f(x) = ﬁ

() f(x)= /(3" + cos®x)5;

(f) flz) =y/2t2,
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) f(z)
) f(z)

(d) f(z) = (2® = 3z +3)(2? + 22 — 1);
) f(z) = (2% —2® + 62— 5) - (a? +1);
) f(z)
) f(z)
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(i) f(z)

() f(z) =

% +xf+37
= T+ 75 + Va?
=sinz + 3cosz — 2% +1n4;
=2-3% +1Inx + 8%.

SlIl T — SlIl3 X,

1

0052 T 5.1n2 z’

(23 + 22 + 1) cos® z;

__ g4
sin® z4cos?

— Sin2 (17515nz);

= logs(2? + cos® z).

_ l—cosz \.
=1In (1+sinx>’

(Inz + 322)°sin®(/z + 6 + 7x).



